NG

L200 Series 6 - 2019 On
NLG Black Roof Rail Set

Fitting Instructions

Part Number: L200-19RRBLACK#




Fitting Kit

2x M8x40mm Cap screws
2x M8x50mm Cap Screws
4x M8 Connection Bolts
4x M8 Washers

4x Plastic Caps

Tools Required

6mm Hex Key

Installation Instruction

Remove rubber strips from both roof channels and put to one side. Itis
optional if you want to refit these strips during the installation. If strips are not
required then discard.



In the channel of the roof you will find mounting points as per image below.

.

Offer up a roof rail to the vehicle and make note of which two mounting points
will be used during the installation of the bars on each side. Take the supplied
M8 connection bolts and insert into the noted mounting points on both sides of
the vehicle as shown in the image.



At this point you can choose to reinstall the trim plastic making sure to cut at
the points of the four connection bolts. Once trim has been replaced or
discarded and making sure each of the feet of the roof rails have a rubber
gasket. Place the bars onto the vehicle so the previously fitted connection bolts
should now sit inside the roof rails.




Take the supplied M8x40mm cap screws with an M8 washer and use these to
secure the front feet of the roof rails into the connection bolts. Take the
M8x50mm cap screws with an M8 washer and secure the middle feet of the
roof rails into the connection bolts.

Once secure to the vehicle use the plastic caps to cover the holes the cap screws
were inserted into.




